Name Test 2

CHEM 0201 (Organic) Fall 2021
1. (12 pts.) Draw a skeletal structure for (1R,2R)-1-methoxy-2-methylcyclopentane. Use wedge
(—=l ) ond dash (*"'"I1) bonds where appropriate. L.
2.
3.
4.
2. (12 pts) Cyclopropane molecules are more reactive than other alkanes. Identify the
hybridization of the carbon atoms in the cyclopropane ring and using valence bond theory 5.
and what we know about the shape of cyclopropane molecules explain why cyclopropane is
less stable than other alkanes. 6
> ;
8.
9.

3. (12 pts.) Draw Newman projections along the C2 to C3 bonds for the following skeletal structures.




4. (24 pts.) Provide IUPAC names for the following structures and remember to include the

stereochemical information in the names where appropriate. The configurations of the stereogenic
centers are indicated on the structures.

a. b.

OH

C. o) d. €

5. A rotamer for 3-methylpentane is drawn below. (a. 4 pts.) On the drawing below, circle groups
experiencing gauche interactions. (b. 4 pts.) Draw the highest energy rotamer. (c. 4 pts.) Draw the
lowest energy rotamer.

H

HqeC CH,CHs
CHs

6. For each pair of structures below (a. 8 pts.) determine whether the structures represent a ring flip and
(b. 8 pts.) circle the molecule that would be lower in energy.



7. (a. 10 pts.) Place a * next to the chirality centers on the following structures, and (b. 10 pts.) circle the
chiral molecules.

Cl
HO OH
/% \@/ A/ /’,, $ II/,,,“. “‘\\\\\\

8. (12 pts.) Determine the configuration of the chirality centers in the following structures.

CHj

F

R
~
S
S
<

Cl Br
Cl Br ‘

CH,CHj

9. (12 pts.) Determine whether the pairs of structures below are enantiomers, diastereomers, or the same

structure.
a. <|3H3 (|3H3 b. Cl cl Cl
.C CH H,C C.
" \ e 3 3 Ny,
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C d.
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